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gm_m›` AZwXoe Ö

1. narjmWu ‡ÌZ-nÃ Ho$ nhbo n•> na AnZm AZwH́$_mßH$ AdÌ` {bI|ü&

2. H•$n`m ‡ÌZ-nÃ H$mo Om±M b| {H$ ‡ÌZ-nÃ Ho$ Hw$b n•>m| VWm ‡ÌZm| H$s CVZr hr gßª`m h° {OVZr ‡W_ n•> Ho$ g~go
D$na N>nr h°ü& Bg ~mV H$s Om±M ^r H$a b| {H$ ‡ÌZ H´${_H$ Í$n _| h¢ü&

3. CŒma-nwpÒVH$m _| nhMmZ-{Mï ~ZmZo AWdm {Z{X©Ô> ÒWmZm| Ho$ A{V[a∫$ H$ht ^r AZwH́$_mßH$ {bIZo na narjmWu H$mo
A`moΩ` R>ham`m Om òJmü&

4. AnZr CŒma-nwpÒVH$m na ‡ÌZ-nÃ H$m H$moS> Zß0 54/HIS/2, goQ> u {bI|ü&

5. (H$) ‡ÌZ-nÃ Ho$db {h›Xr/AßJ´oOr _| h°ü& {\$a ^r, `{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm _| CŒma Xo
gH$Vo h¢ Ö

AßJ´oOr, {h›Xr, CXy©, nßOm~r, ~ßJbm, V{_b, _b`mb_, H$fiãS>, VobwJy, _amR>r, C{ãS>`m, JwOamVr,

H$m|H$Ur, _{Unwar, Ag{_`m, Zonmbr, H$Ì_rar, gßÒH•$V Am°a {g›Yrü&

H•$n`m CŒma-nwpÒVH$m _| {XE JE ~m∞äg _| {bI| {H$ Amn {H$g ^mfm _| CŒma {bI aho h¢ü&

(I) `{X Amn {h›Xr Edß AßJ´oOr Ho$ A{V[a∫$ {H$gr A›` ^mfm _| CŒma {bIVo h¢, Vmo ‡ÌZm| H$mo g_PZo _| hmoZo
dmbr Ãw{Q>`m|/Jb{V`m| H$s {OÂ_oXmar Ho$db AmnH$s hmoJrü&
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ECONOMICS

AW©emÛ

(318)

Time : 3 Hours ] [ Maximum Marks : 100

g_` : 3 K Q>o ] [ nyUm™H$ : 100

Note : (i) All questions are compulsory.

(ii) Marks allotted to each question are indicated against it.

(iii) Each question from Question Nos. 1 to 10 has four alternatives—(A), (B), (C) 

and (D), out of which one is most appropriate. Select the correct answer

among the four alternatives and write it in your answer-book against

the number of the question. No extra time is allotted for attempting

multiple-choice questions.

{ZX}e : (i) g^r ‡ÌZm| Ho$ CŒma Xr{OEü&

(ii) ‡À òH$ ‡ÌZ Ho$ gm_Zo CgHo$ AßH$ {bIo JE h¢ü&

(iii) ‡ÌZ gßª`m 1 go 10 VH$ Ho$ ‡À òH$ ‡ÌZ _| Mma {dH$În—(H$), (I), (J) VWm (K) h¢, {OZ_| go
EH$ Cn`w∫$ h°ü& Mmam| {dH$Înm| _| go ghr CŒma MwZ| VWm AnZr CŒma-nwpÒVH$m _| ‡ÌZ gßª`m Ho$ gm_Zo CŒma 
{bI|ü& ~h˛-{dH$Înr ‡ÌZm| Ho$ {bE A{V[a∫$ g_` Zht {X`m OmEJmü&

1. The coefficient of correlation cannot be

(A) 0

(B) 1

(C) greater than 1

(D) -1 1

ghgß~ßY JwUmßH$

(H$) 0 Zht hmo gH$Vm

(I) 1 Zht hmo gH$Vm

(J$) 1 go A{YH$ Zht hmo gH$Vm

(K) -1 Zht hmo gH$Vm
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2. Central problems arise

(A) only in underdeveloped economies

(B) only in mixed economies

(C) only in developing economies

(D) in all economies 1

Ho$›–r` g_Ò`mE± CÀnfi hmoVr h¢

(H$) Ho$db AÎn{dH${gV AW©Ï`dÒWmAm| _|

(I) Ho$db {_{lV AW©Ï`dÒWmAm| _|

(J$) Ho$db {dH$mgerb AW©Ï`dÒWmAm| _|

(K) g^r AW©Ï`dÒWmAm| _|

3. Demand curve of a commodity shifts to the left when

(A) its price rises

(B) its price falls

(C) price of substitute goods falls

(D) price of complementary goods falls 1

dÒVw H$m _m±J dH´$ ~m`t Amoa {IgH$Vm h°, O~

(H$) BgH$s H$s_V ~ãT>Vr h°

(I) BgH$s H$s_V KQ>Vr h°

(J$) ‡{VÒWmnZ dÒVwAm| H$s H$s_V KQ>Vr h°

(K) nyaH$ dÒVwAm| H$s H$s_V KQ>Vr h°

4. As output is increased, the difference between average total cost and average

variable cost

(A) decreases

(B) increases

(C) remains constant

(D) first increases and then decreases 1

318/HIS/110A 4



O°go-O°go CÀnmXZ ~ãT>m`m OmVm h°, Am°gV Hw$b bmJV Am°a Am°gV n[adŒmu bmJV H$m A›Va

(H$) KQ>Vm h°

(I) ~ãT>Vm h°

(J$) pÒWa ahVm h°

(K) nhbo ~ãT>Vm h° {\$a KQ>Vm h°

5. Which of the following can have a negative value?

(A) Marginal physical product

(B) Average physical product

(C) Total physical product

(D) None of the above 1

{ZÂZ{b{IV _| go {H$gH$m _yÎ` G$UmÀ_H$ hmo gH$Vm h°?

(H$) gr_m›V ^m°{VH$ CÀnmX

(I) Am°gV ^m°{VH$ CÀnmX

(J$) Hw$b ^m°{VH$ CÀnmX

(K) Cn`w©∫$ _| go H$moB© Zht

6. Average revenue and marginal revenue are always equal under

(A) perfect competition

(B) monopoly

(C) monopolistic competition

(D) all forms of market 1

Am°gV AmJ_ Am°a gr_m›V AmJ_ gX°d ~am~a hmoVo h¢

(H$) nyU© ‡{V`mo{JVm _|

(I) EH$m{YH$ma _|

(J$) EH$m{YH$mamÀ_H$ ‡{V`mo{JVm _|

(K) g^r ‡H$ma Ho$ ~mOma _|
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7. Compensation of employees does not include

(A) bonus

(B) employer’s contribution to social security

(C) gifts

(D) free accommodation 1

H$_©Mm[a`m| Ho$ nm[al{_H$ _| em{_b Zht {H$`m OmVm h°

(H$) ~moZg

(I) {Z`moOH$m| H$m gm_m{OH$ gwajm Ho$ {bE `moJXmZ

(J$) Cnhma

(K) {ZÖewÎH$ Amdmg

8. Which of the following is a factor income?

(A) Taxes

(B) Fines

(C) Profits

(D) Donations 1

{ZÂZ{b{IV _| go H$m°Z-gr gmYZ Am` h°?

(H$) H$a

(I) Ow_m©Zm

(J$) bm^

(K) XmZ

9. Change in bank rate is made by

(A) Central Bank

(B) Government

(C) Commercial Banks

(D) Prime Minister 1
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~¢H$ Xa _| n[adŒm©Z {H$`m OmVm h°

(H$) Ho$›–r` ~¢H$ ¤mam

(I) gaH$ma ¤mam

(J$) dm{U¡` ~¢H$m| ¤mam

(K) ‡YmZ_ßÃr ¤mam

10. Which of the following is not a function of money?

(A) Medium of exchange

(B) Control rising prices

(C) Store of value

(D) Measure of value 1

{ZÂZ{b{IV _| go H$m°Z-gm _w–m H$m H$m ©̀ Zht h°?

(H$) {d{Z_` H$m _m‹`_

(I) _w–mÒ\$s{V H$m {Z ß̀ÃU

(J$) _yÎ` H$m gßM`

(K) _yÎ` H$m _mnH$

11. Explain any three main properties of arithmetic mean. 3

AßH$J{UVr` _m‹` H$s {H$›ht VrZ {deofVmAm| H$s Ï`mª`m H$s{OEü&

12. Describe the problem of ‘how to produce’. 3

"H°$go CÀnmXZ H$a|' H$s g_Ò`m H$m dU©Z H$s{OEü&

13. Give the meanings of micro- and macro-economics. 3

Ï`{Ô>- Am°a g_{Ô>-AW©emÛ Ho$ AW© ~VmBEü&

14. State the law of demand and its two exceptions. 3

_m±J H$m {Z`_ Am°a BgHo$ Xmo AndmX ~VmBEü&
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15. State any three properties of indifference curve. 3

AZ{Y_mZ dH´$ H$s H$moB© VrZ {deofVmE± ~VmBEü&

16. Explain the effect of improvement in the technology of production of a

commodity on its supply. 3

EH$ dÒVw H$s CÀnmXZ VH$ZrH$ _| gwYma H$s CgH$s Amny{V© na ‡^md H$s Ï`mª`m H$s{OEü&

17. At a price of R 10 per unit the demand of a commodity is 200 units. Its price

elasticity of demand is ( )- ×1 5. At what price will the demand be 250 units? 3

R 10 ‡{V BH$mB© H$s_V na EH$ dÒVw H$s _m±J 200 BH$mB© h°ü& BgH$s _m±J H$s H$s_V bmoM ( )- ×1 5 h°ü& 
{H$g H$s_V na BgH$s _m±J 250 BH$mB© hmoJr?

18. Distinguish between real and nominal gross domestic products. 3

dmÒV{dH$ Am°a _m°{–H$ gH$b Kaoby CÀnmX _| ^oX H$s{OEü&

19. Calculate consumption expenditure from the following data : 3

Income 3000

Marginal propensity to consume 0·8

Autonomous consumption 200

{ZÂZ{b{IV Am±H$ãS>m| go Cn^moJ Ï`` H$m n[aH$bZ H$s{OE Ö

Am` 3000

gr_m›V Cn^moJ ‡d•{Œm 0·8

Òdm`Œm (pÒWa) Cn^moJ 200

20. Which of the following can have a negative value? Give reasons for your answers : 3

(a) Average propensity to save

(b) Marginal propensity to save

{ZÂZ{b{IV _| go {H$gH$m _yÎ` G$UmÀ_H$ hmo gH$Vm h°? AnZo CŒma Ho$ {bE H$maU Xr{OE :

(H$) Am°gV ~MV ‡d•{Œm 

(I) gr_m›V ~MV ‡d•{Œm

318/HIS/110A 8



21. Calculate arithmetic mean from the following data : 4

{ZÂZ{b{IV Am±H$ãS>m| go AßH$J{UVr` _m‹` H$m n[aH$bZ H$s{OE Ö

Class

dJ©
Frequency

Amd•{Œm

0–20 10

20–40 12

40–60 8

60–80 10

22. Explain the effect of change in the price of related goods on the demand of a

Giffen goods. 4

{Jµ\$Z dÒVwAm| H$s _m±J na gß~ß{YV dÒVwAm| H$s H$s_V _| Am`o n[adV©Z Ho$ ‡^md H$s Ï`mª`m H$s{OEü&

23. Complete the following table : 4

{ZÂZ{b{IV Vm{bH$m H$mo nyam H$s{OE Ö

Output (units)

CÀnmXZ (BH$mB`m±)
Marginal Product

gr_m›V CÀnmX
Average Product

Am°gV CÀnmX

1 10 ...............

2 8 ...............

3 6 ...............

4 4 ...............

24. Explain four main precautions that should be taken while estimating national

income by expenditure method. 4

Ï`` {d{Y ¤mam amÔ¥>r` Am` H$s JUZm _| ~aVr OmZo dmbr Mma _wª` gmdYm{Z`m| H$s Ï`mª`m H$s{OEü&

25. Explain any two determinants of propensity to consume. 4

Cn^moJ ‡d•{Œm Ho$ {H$›ht Xmo {ZYm©aH$m| H$s Ï`mª`m H$s{OEü&
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26. How does the central bank use legal reserve ratio in controlling credit creation?

Explain. 4

gmI {Z_m©U H$mo {Z`ß{ÃV H$aZo Ho$ {bE Ho$›–r` ~¢H$ d°Ym{ZH$ H$mof AZwnmV H$m ‡`moJ {H$g ‡H$ma
H$aVm h°? g_PmBEü&

27. Explain the following characteristics of perfect competition : 6

(a) Homogeneous product

(b) Free entry and exit

nyU© ‡{V`mo{JVm H$s {ZÂZ{b{IV {deofVmE± g_PmBE Ö

(H$) g_Í$n CÀnmX

(I) ‡doe VWm ~{hJ©_Z H$s ÒdVßÃVm

28. Distinguish between the following : 6

(a) Explicit costs and implicit costs

(b) Private costs and social costs

{ZÂZ{b{IV _| ^oX H$s{OE Ö

(H$) ÒnÔ> bmJV| Am°a AßV{Z©{hV bmJV|

(I) {ZOr bmJV| Am°a gm_m{OH$ bmJV|

29. Explain any three main objectives of budgetary policy. 6

~OQ>r` Zr{V Ho$ {H$›ht VrZ _wª` C‘oÌ`m| H$s Ï`mª`m H$s{OEü&
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30. From the following data, calculate the coefficient of correlation between

advertising expenditure ( )X  and profit ( )Y  : 6

{ZÂZ{b{IV Am±H$ãS>m| go {dkmnZ Ï`` ( )X  Am°a bm^ ( )Y  Ho$ _‹` ghgß~ßY JwUmßH$ H$m n[aH$bZ
H$s{OE Ö

Advertising Exp.

{dkmnZ na Ï``

( )X

Profit

bm^

( )Y

No. of items

_Xm| H$s gßª`m

8 8

Arithmetic mean

AßH$J{UVr` _m‹`

X = 168 Y = 169

Standard deviation

_mZH$ {dMbZ
s X =

9

2
sY =

11

2

å =XY 24

31. From the following data, compute Paasche’s Price Index Number for the current 

year : 6

{ZÂZ{b{IV Am±H$ãS>m| go dV©_mZ df© Ho$ {bE nmeo Ho$ _yÎ` gyMH$mßH$ H$s JUZm H$s{OE Ö

Item

_X

Base Year

AmYma df©
Current Year

‡M{bV df©

Price

_yÎ`
Quantity

_mÃm
Price

_yÎ`
Quantity

_mÃm

A 2 12 10 16

B 4 14 8 14

C 6 16 6 12

D 8 18 4 10
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32. Calculate gross domestic product at market price from the following data : 6

R (in crore)  

(i) Compensation of employees 1,000

(ii) Bonus 100

(iii) Profit 500

(iv) Rent 200

(v) Net factor income from abroad ( )-  50

(vi) Dividend 80

(vii) Depreciation 60

(viii) Net indirect taxes 70

(ix) Mixed income of self-employed 4,000

(x) Net exports 40

(xi) Interest 90

{ZÂZ{b{IV Am±H$ãS>m| go ~mOma _yÎ` na gH$b Kaoby CÀnmX H$m n[aH$bZ H$s{OE Ö

   R (H$amoãS>m| _|)

(i) H$_©Mm[a`m| H$m nm[al{_H$ 1,000

(ii) ~moZg 100

(iii) bm^ 500

(iv) {H$am`m 200

(v) {dXoem| go {Zdb gmYZ Am` ( )-  50

(vi) bm^mße 80

(vii) {K>gmdQ> 60

(viii) {Zdb A‡À`j H$a 70

(ix) Òd{Z`mo{OVm| H$s {_{lV Am` 4,000

(x) {Zdb {Z`m©V 40

(xi) „`mO 90

H H H
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